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Earths surface is dominated by the particular properties of

water.Present on Earth in solid, liquid, and gaseous states, water is

exceptionally reactive. It dissolves, transports, and precipitates many

chemical compounds and is constantly Line modifying the face of

the Earth.(5) Evaporated from the oceans, water vapor forms clouds,

some of which are transported by wind over the continents.

Condensation from the clouds provides the essential agent of

continental erosion: rain. Precipitated onto the ground, the water

trickles down to form brooks, streams, and rivers, constituting what

are called the hydrographic network. This immense polarized

network channels the water toward a single recepatcle: an ocean.(10)

Gravity dominates this entire step in the cycle because water tends to

minimize its potential energy by running from high altitudes toward

the reference point, that is, sea level. The rate at which a molecule of

water passes through the cycle is not random but is a measure of the

relative size of the various reservoirs. If we define residence time as

the(15) average time for a water molecule to pass throught one of the

three reservoirsatmosphere, continent, and oceanwe see that the

times are very different. A water molecule stays, on average, eleven

days in the atmosphere, one hundred years on a continent and forty

thousand years in the ocean. This last figure shows the importance of

the ocean as the principal reservoir of the hydrosphere but also the



rapidity of water(20) transport on the continents. A vast chemical

separation process takes places during the flow of water over the

continents. Soluble ions such as calcium, sodium, potassium, and

some magnesium are dissolved and transported. Insoluble ions such

as aluminum, iron, and silicon stay where they are and form the thin,

fertile skin of soil on which vegetation can grow. Sometimes(25) soils

are destroyed and transported mechanically during flooding. The

erosion of the continents thus results from two closely linked and

interdependent processes, chemical erosion and mechanical erosion.

Their respective interactions and efficiency depend on different

factors. 8. All of the following are example of soluble ions EXCEPT

(A) magnesium (B) iron (C) potassium (D) calcium答案：B The

canopy, the upper level of the trees in the rain forest, holds a plethora

of climbing mammals of moderately large size, which may include

monkeys, cats, civets, and porcupines. Smaller species, including

such rodents as mice and small squirrels, are not Line as prevalent

overall in high tropical canopies as they are in most habitats

globally.(5)Small mammals, being warm blooded, suffer hardship in

the exposed and turbulent environment of the uppermost trees.

Because a small body has more surface area per unit of weight than a

large one of similar shape, it gains or loses heat more swiftly. Thus, in

the trees, where shelter from heat and cold may be scarce and

conditions may fluctuate, a small mammal may have trouble

maintaining its body temperature.(10)Small size makes it easy to

scramble among twigs and branches in the canopy for insects,

flowers, or fruit, but small mammals are surpassed, in the



competition for food, by large ones that have their own tactics for

browsing among food-rich twigs.The weight of a gibbon (a small

ape) hanging below a branch arches the terminal leaves down so that

fruit-bearing foliage 0drops toward the gibbons face. Walking or(15)

leaping species of a similar or even larger size access the outer twigs

either by snapping off and retrieving the whole branch or by

clutching stiff branches with the feet or tail and plucking food with

their hands. Small climbing animals may reach twigs readily, but it is

harder for them than for large climbing animals to cross the wide

gaps from on tree crown to the next that(20) typify the high canopy.

A macaque or gibbon can hurl itself farther than a mouse can: it can

achieve a running start, and it can more effectively use a branch as a

springboard, even bouncing on a limb several times before jumping.

The forward movement of a small animal is seriously reduced by the

air friction against the relatively large surface area of its body. Finally,

for the many small mammals that supplement their insect(25) diet

with fruits or seeds, an inability to span open gaps between tree

crowns may be problematic, since trees that yield these foods can be

sparse. 2. Which of the following animals is less common in the

upper canopy than in other environments? (A) Monkeys (B) Cats

(C) Porcupines (D) Mice 答案：D 100Test 下载频道开通，各类
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